


E 3662-0616

RefNo, | Quantiy Partho it Rer No. | Quanity PartNo. it
Posione | Quentla | Nr.dordine. indcation Posiione | Quenila | Nr.aOrane. idicarions
Posiion | Gantdad |  No. Reforensa incicaciones Posiion | Gantdad |  No. Reforenca indicaciones

1 11001748

2 25038018 | DIN933-M12x20

3 20029023 | SKB 12

4 20026465

5 25025191 | DIN80705-M20x1,5

6 20025019

7 11001969

8 25038015 | DIN933-M10x30

9 25049020 | DIN7349-10,5

10 20022003 | Tensilock M10

11 11002086 | Honda

12 25038002 | DIN933-M6x16

13 25048001 | DIN125-A6,4

14 20022001 | Tensilock M6

15 25038002 | DIN933-M6x16

16 20029020 |SKB 6

06.16




